RESOLUTION NO. 2023-188

RESOLUTION OF THE TOWNSHIP OF LITTLE EGG HARBOR, COUNTY OF OCEAN, STATE OF NEW JERSEY, AUTHORIZING THE EXECUTION OF CHANGE ORDER NO. 1 (FINAL) FOR RECREATION IMPROVEMENTS AT THE COMMUNITY CENTER TO SHORE TOP CONSTRUCTION CORP.

WHEREAS, a contract was previously awarded to Shore Top Construction

Corp. for Recreation Improvements at the Community Center; and

WHEREAS, the original contract for said improvements was in the amount of \$399,242.80; and

WHEREAS, the governing body wishes to authorize Change Order No. 1 (Final), which will result in a decrease of \$4,902.14 in the contract price, based on as-built quantities for the project as shown on Schedule A attached hereto and made a part hereof, which is a 1.23% decrease for a new total of \$394,340.66; and

WHEREAS, this change order has been recommended by the Township Engineer; and

WHEREAS, it is the desire of the governing body to authorize the execution of this change order.

NOW, THEREFORE, BE IT RESOLVED, by the governing body of the Township of Little Egg Harbor, County of Ocean, State of New Jersey as follows:

1. That the governing body does hereby authorize the execution of Change Order No. 1 (Final), which will result in a decrease of \$4,902.14 in the contract price, based on as-built quantities for the project as shown on Schedule A attached hereto and made a part hereof, which is a 1.23% decrease for a new total of \$394,340.66.

r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

- 2. That the Mayor is hereby authorized to execute and the Township Clerk to attest to, respectively, an addendum to the contract with Shore Top Construction Corp., in accordance with the provisions of this resolution.
- 3. That a certified copy of this resolution, together with a copy of Change Order No. 1 (Final), be forwarded to the Chief Financial Officer, Township Engineer and Shore Top Construction Corp.

CERTIFICATION

I, KELLY LETTERA, RMC, Municipal Clerk of the Township of Little Egg Harbor do hereby certify that the foregoing resolution was duly adopted by the Township of Little Egg Harbor Township Committee at a meeting held on the 8th day of June, 2023.

KELLY LETTERA, RMC

Township Clerk

Little Egg Harbor Township

rmshc

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

ADDENDUM TO CONTRACT

THIS ADDENDUM made this	day of	, 2023,
by and between the TOWNSHIP OF LITTLE EG	G HARBOR, a mur	nicipal corporation of
the State of New Jersey, having its principal office	s located at 665 Ra	dio Road, Little Egg
Harbor, New Jersey, 08087, hereinafter referred	to as "Township,"	and SHORE TOP
CONSTRUCTION CORP., having an address at	23 Yellowbrook R	oad, Freehold, New
Jersey 07728, hereinafter referred to as "Contractor."	•	

WITNESSETH:

WHEREAS, a contract was previously awarded to Shore Top Construction

Corp. for Recreation Improvements at the Community Center; and

WHEREAS, the original contract for said project was in the amount of \$399,242.80; and

WHEREAS, the governing body wishes to authorize Change Order No. 1 (Final), which will result in a decrease of \$4,902.14 in the contract price, based on as-built quantities for the project as set forth on Schedule A, attached hereto and made a part hereof; and

WHEREAS, this change order has been recommended by the Township

Engineer and agreed to by the contractor; and

WHEREAS, this change order totals \$4,902.14, which amount is a 1.23% decrease of the original contract awarded to the contractor.

NOW THEREFORE, be it agreed between the parties as follows:

 The Township and the Contractor do hereby amend the original contract between the parties for Recreation Improvements at the Community Center to provide for a

r|m|s|h|c

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A.

98 East Water Street Toms River, NJ 08753

> o: 732.363.0777 f: 732.905.6555

decrease of \$4,902.14 in the contract price, based on as-built quantities for the project as shown on Schedule A attached hereto and made a part hereof, which is a 1.23% decrease for a new total of \$394,340.66 based on as-built quantities as set forth on Schedule A, attached hereto and made a part hereof.

2. That the parties do hereby authorize the execution of this addendum.

WITNESS & ATTEST:

TOWNSHIP OF LITTLE EGG HARBOR

By_______

BLAISE SCIBETTA, Mayor

SHORE TOP CONSTRUCTION CORP.

By_______

President

rmshc

(Scal)

Rothstein, Mandell, Strohm, Halm & Cipriani, P.A

98 East Water Street Toms River, NJ 08753

> o: 732,363.0777 f: 732,905.6555

CHANGE ORDER NUMBER - 1 (FINAL)

Project RECREATION IMPROVEMENTS AT THE COMMUNITY CENTER Municipality TOWNSHIP OF LITTLE EGG HARBOR County OCEAN COUNTY Contractor SHORE TOP CONSTRUCTION CORP. 23 YELLOWBROOK ROAD FREEHOLD, NJ 07728

In accordance with the project Supplementary Specification, the following are changes in the contract. Location and Reason for Change (Attach additional sheets if required)

	ITEM NO. AND DESCRIPTION		QUANTITY & UNIT		UNIT PRICE	AMOUNT
SUPPL	EMENTAL WORK					
10	HOT MIX ASPHALT 9.5M64 SURFA	CE COURSE, 1.5" THICK	14.67	TON	\$150.00	\$2,200.50
20	BASKETBALL COURT COLOR COAT	ING AND STRIPING	20	SY	\$16.00	\$320.00
REDU	CTION					
4	EXCAVATION, TEST PIT		3	UNIT	\$10.00	\$30.00
8	TACK COAT 64-22		120	GAL	\$1.00	\$120.00
9	HOT MIX ASPHALT 19M64 BASE O	OURSE, 2.5" THICK	45.41	TON	\$1.40.00	\$6,357.40
25	BENCHES, 6' LONG		2	UNIT	\$2,000.00	\$4,000.00
26	6 DECORATIVE RIVER STONE, 3" THICK		10.89	SY	\$20.00	\$217.80
27	PERMEABLE WEED BARRIER		10.89	SY	\$30.00	\$326.70
A.1	HMA MILLING, MORE THAN 3" TO 6"		44	SY	\$6.00	\$264.00
A.3	HMA 19M64 BASE COURSE, 2.5" THICK		12.99	TON	\$1.40	\$18.19
A.4	HMA 9.5M64 SURFACE COURSE,	1.5" THICK	6.7	TON	\$150	\$10.05
A.7	TRAFFIC STRIPING, THERMOPLASTIC, 4" WIDE (WHITE)		128	LF	\$1.50	\$192.00
A.8	TRAFFIC STRIPING, THERMOPLASTIC, 4" WIDE (YELLOW)		462	LF	\$1.50	\$693.00
A.9	TRAFFIC STRIPING, THERMOPLASTIC, 4" WIDE (BLUE)		33	LF	\$1.50	\$49.50
A.11	TRAFFIC STRIPING, THERMOPLASTIC, STOP BAR, 24" WIDE		2	SF	\$72.00	\$144.00
EXTRA	WORK					
E-1	REMOVAL OF EXCESS FILL AND AS	SPHALT DEBRIS	1	LS	\$5,000.00	\$5,000.00
Amount of Original Contract \$399,242.80			Supplemental/E	xtra	\$7,520.50	
			Reduction		\$12,422.64	
Adjust Orders	ed Amount Based on Change	\$394,340.66		Total Change		-\$4,902.14
% Cha	nge in Contract	-1.23%				
((+) Inc	crease or (-) Decrease)	***************************************				

Jason A. Worth, P.E. Township Engineer

(Fresiding Officer)

5/30/23

(Date)